
Examen 2V0-32-24 : Guide de réussite
pour la certification VMware Cloud

Introduction à la certification VMware Cloud

La certification VMware Cloud est un atout précieux pour ceux qui veulent
exceller dans le domaine du Cloud Computing. Elle ouvre des portes vers des
rôles variés, notamment celui d'architecte cloud.

Pourquoi passer l'examen 2V0-32-24 ?

L'examen 2V0-32-24 évalue vos compétences en opérations cloud avec VMware.
Il est essentiel pour prouver votre expertise et est souvent requis par les
employeurs dans le secteur technologique. Pour plus de détails, vous pouvez
consulter ce lien.

Préparation à l'examen

Pour réussir, il est crucial de suivre une formation VMware 8.x. Ces cours vous
familiarisent avec les concepts de base et avancés, renforçant ainsi votre
confiance pour l'examen.

Les domaines à maîtriser

La gestion des infrastructures cloud joue un rôle central dans l'examen. Vous
devez comprendre comment :

Déployer les ressources cloud.

Gérer les infrastructures cloud.

Optimiser les ressources cloud.

Opérations Cloud VMware : un domaine en
pleine croissance

Les opérations cloud sont essentielles pour les entreprises modernes. Avoir une
certification dans ce domaine peut considérablement augmenter vos opportunités
d'emploi. Pensez à vous préparer en consultant cette ressource précieuse.

https://www.certkillers.net/Exam/2V0-32-24
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Le métier d'architecte cloud

En tant qu'architecte cloud, vous êtes chargé de concevoir des solutions cloud
adaptées aux besoins des entreprises. Cette certification vous prépare à relever
ces défis.

Conclusion

La certification VMware Cloud et l'examen 2V0-32-24 sont des étapes
importantes pour bâtir une carrière réussie dans le Cloud Computing. Préparez-
vous efficacement et envisagez un futur brillant dans ce domaine passionnant.
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Question: 1

Which three factors determine the size of vRealize Operations deployment? (Choose three.)

A. Size of attached Cloud Proxies

B. Number of Objects

C. Size of monitored vCenter Servers

D. Number of Agents

E. Number of Remote Collectors

F. Number of Metrics

Answer: B, D, F

Explanation:

Number of Objects

vRealize Operations sizing is fundamentally driven by how many infrastructure and application objects

(VMs, hosts, datastores, etc.) are being monitored - each additional object consumes CPU, memory, and

storage resources on the cluster.

Number of Agents
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When using Application Remote Collectors, the total count of agents (for OS and application-level

metrics) per node directly affects capacity planning, as each agent connection incurs processing and

storage overhead.

Number of Metrics

The volume of distinct metrics collected (across all adapters and agents) determines database size and

I/O load; sizing guidelines specify maximum collected-metric counts per node to ensure performance.

Question: 2

An administrator has been tasked with deploying vRealize Operations using a new vRealize Suite

Lifecycle Manager (vRSLCM) instance that has already been configured with VMware Identity Manager.

Which item must be configured in vRSLCM before the administrator can complete the deployment?

A. A valid license for vRealize Suite

B. A valid license for vRealize Suite Lifecycle Manager

C. Outbound notifications settings

D. A registered authentication provider

Answer: D

Explanation:

Before completing the deployment of vRealize Operations through vRSLCM, an authentication provider

must be registered. This step ensures that users can authenticate using appropriate credentials, which is

especially important when VMware Identity Manager is already configured. Without a registered

authentication provider, users would not be able to access the environment or perform necessary tasks.

Question: 3
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Which vRealize Log Insight deployment architecture is valid?

A. A three node cluster with a large central node and two smaller remote nodes

B. A three node cluster forwarding all messages to a three node cluster in another datacenter

C. A four node cluster deployed with two nodes in each of two datacenters

D. A six node cluster deployed with three nodes in each of two datacenters

Answer: D

Explanation:

vRealize Log Insight supports the deployment of multi-node clusters across multiple data centers for high

availability and scalability. The architecture with three nodes in each of two separate data centers

ensures fault tolerance and load balancing. The six-node cluster can operate across the two datacenters

and provides a resilient and distributed logging solution.

Question: 4

Which VMware product provides continuous performance optimization, efficient capacity and cost

management, intelligent remediation, and integrated compliance as a subscription based service?

A. vRealize Operations

B. vRealize Operations Cloud

C. vRealize Log Insight

D. vRealize Log Insight Cloud

Answer: B
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Explanation:

vRealize Operations Cloud is a subscription-based service that delivers continuous performance

optimization, efficient capacity and cost management, intelligent remediation, and integrated

compliance. It leverages the cloud to provide these features, which allow organizations to manage and

optimize their environments more effectively and with flexibility.

Question: 5

DRAG DROP

An administrator has been tasked with importing a new certificate for vRealize Operations using vRealize

Lifecycle Manager.

Drag and drop the four correct actions the administrator must complete from the action list on the left

and place the actions into the correct sequence on the right. (Choose four.)

Answer:
Explanation:
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